Calculating lengths and angles in shapes

u| ]
a) What is the size of each of the angles? 90 |°

A diagonal line is drawn across the square.

45°
a

b) Explain why angle a is also 45°.

F]rdﬁ\\t ang\\o. s 90° and 90° -4S° =4S°

0 Here is a rectangle.

p
53°

What is the size of the angle marked p?

o Tom has some identical paper rectangles.

6 cm

S

10 cm

He makes shapes with the rectangles.

a) Work out the missing length and width of this shape.

V'

30 |em

b) Work out the perimeter of this shape.

perimeter=| 50 |m
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o Dani has two identical triangles. o A hexagon has these dimensions.

4
R cm
70° 70°
9 cm
50° 60° 50° 60° 4 cm
v
The two triangles are put together to make a quadrilateral. ¢ 9 cm
What are the sizes of angles x and y? Brett cuts the shape in half and fits the pieces together to make a
rectangle.
What is the length and width of the rectangle?
X
Y width=| [ |cm
length =| |« |cm
x=1120|° y=[120|°

o The rectangle is cut in half across the diagonal. Qj- o Shape A is a regular hexagon. Qf

Shape A is cut up to make shape B.

70°
Shape A

70 mm
«— Shape B

V'S
The two triangles are put together to form an isosceles triangle. / \
80 mm » \ / I
) \ / 3 >
v
< >

180 [mm

LO |mm

o

20 s

- | 110 mm

Work out the size of the angles in the isosceles triangle and label
them on the diagram.

Label the diagram.
How did you work this out? Talk about it with a partner. Q}-

What is the length and width of the new rectangle?
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